The general solution of the differential
equationy’ +y = —1is

Select one:
y(t) =1+ ce*
® y(t) =—-1+ce™
y(t) = —1 + cé’
y(t) = ce™

Clear my choice
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The differential equation y' + % =1 is

Select one:

- second order linear equation.

second order nonlinear equation.

- first order linear equation

@ first order nonlinear equation

Clear my_choice
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Let v(t) be the velocity of a falling object
that satisfies 153—: = 147 — ~w. If the

limiting velocity is v, = 21 then v =

Select one:
® Tkg/s

3 kg/s
O kg/s
2 kg/s

Clear my _choice
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If all solutions of the differential equation
y' = ay — b converge to —3 then possible
values for a and b are

Select one:
a=1.40=3
a=-1,b= -3

® a=-1,0=3
a—=1,0=——3

Clear my _choice
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Let y(7) be a solution of the differential
equation y’ + y = =2, then

Select one:

Q limy®) =2

[— 00

O limy() = -2

[— OO

QO limy(f) = —c0

[— OO

O lim y(¥) = +0

[— 00

Clear my choice
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